PRACTICE- UNIT 10
I-_ Phonetics
. Find the word which has a different sound in the part underlined:

1

1. A. satellite B. microgravity C. meteorite D. orbit

2. A. habitable B. parabolic C. spacewalk D. galaxy

3. A. telescope B. rocket C. cooperate D. microgravity
4. A. survive B. solar C. sustain D. sugar

5. A. artificial B. distance C. centre D. cells

2. Choose the word which has a different stress pattern from the others:
1
2
3
4
5

. A. astronomy B. astronomer C. astronomic D. emergency
. A. satellite B. meteorite C. maintenance D. adventure

. A. dangerous B. parachute C. popular D. magazine

. A. descend B. explore C. surface D. approach

. A. object B. trainee C. spacewalk D. private

I1- Vocabulary and Grammar

Choose the best option A, B, C, D to complete the sentences:

1. The Milky Way is just a in the universe and it contains our solar system.
A. planet B. comet C. meteorite D. galaxy

2. He said he enjoyed floating around in the environment.

A. homesick B. heavy C. weightless D. quiet

3. NASA is now working hard to whether there is life on Mars.

A. discover B. collect C. experience D. accept

4. The first was done by Alexei Leonov, a Russian cosmonaut on March 18" 1965. It
was 10 minutes long.

A. spacesuit B. spacewalk C. spaceship D. spaceward

5. Do you believe that space have landed on our planet?

A. robots B. terrorists C. aliens D. advertisement
6. When he up, his mother had already prepared breakfast.

A. woke B. had woken C. was waking D. would wake

7. By the time he arrived at the cinema, the tickets

A. had sold out B. had been sold out  C. were selling out D. would have been sold out
8. Before that day, we had never thought of abroad.

A. having gone B. being went C. doing go D. going

9. Do you want to meet my colleague son is training to be an astronaut?

A. that B. whom C. X D. whose

10. The mission they are talking about plans to send humans to Mars by 2030

A. X B. who C. when D. where



I11- Reading Comprehension Check

Choose the word or phrase among A, B, C or D that best fits the blank space in the following
passage:

Gravity and weightlessness

Our everyday lives (1) such activities as sitting, walking, picking up things from
the ground and lying in bed. None of these activities are possible in orbit.

(2) a spacecraft reaches orbit, everything inside it seems to be weightless. Anything
or anyone that is not tied down will float. Weightlessness allows astronauts to appear very (3)
. They can lift objects that would be (4) heavy to move on Earth. But there
are some drawbacks.

(5) the effect of gravity, blood and other body fluids begin to flow towards the
head. This can cause a feeling of headaches. With no gravity to push against, bones and muscles can
become weak. To (6) fit, they have to exercise several hours each day. This allows
them to recover more quickly when they (7) to Earth.

In a space shuttle or space station, there is no up or down. There is no difference

(8) a floor and a ceiling. This can make astronauts feel (9) until they get
used to this strange (10)

1. A. relate B. involve C. consist of D. own

2. A. Before B. During C. One time D. Once

3. A. strong B. strongly C. strength D. strengthen
4. A. alittle B. much C. much more D. far too

5. A. With B. Without C. Lack D. Short

6. A. protect B. continue C. stay D. become

7. A. return B. turn C. come D. enter

8. A. among B. either C. between D. in between
9. A. disease B. affected C. homesick D. sick

10. A. design B. arrangement C. direction D. location
IV- Writing

1. Choose the best sentence that can be made from the cues given:
1. In past/ people/ think/ we/ never able/ reach Moon.

A. In the past, people thought we would never able to reach the Moon.
B. In the past, people thought we will never able to reach Moon.

C. In the past, people think we will never able to reach Moon.



D. In the past, people think we will never able to reach the Moon.
2. A hotel/ place/ people/ stay/ when/ they/ holiday.

A. A hotel is a place that people stay where they’re on holiday.

B. A hotel is a place which people stay where they’re on holiday.
C. A hotel is a place, where people stay where they’re on holiday.
D. A hotel is a place that people stay where they’re on holiday.

3. He/ very tired/ because he/ not sleep/ well.

A. He is very tired because he wasn’t slept well.

B. He was very tired because he hadn’t slept well.

C. He has been very tired because he wasn’t sleeping well.

D. He is very tired because he has slept well.

4. You/ study/ English/ you/ move/ New York?

A. Had you studied English before you moved to New York?

B. Did you studied English after you move to New York?

C. Have you studied English when you moved to New York?

D. Had you studied English since you were moving to New York?
5. He/ man/ son/ play/ football/ Manchester City.

A. He’s a man whom son plays football at Manchester City.

B. He’s a man who son plays football at Manchester City.

C. He’s the man of which son plays football at Manchester City.

D. He’s the man whose son plays football at Manchester City.

2. Choose the best option A, B, C or D which has closest meaning to the first one:
1. Most of the people recovered quickly. They were injured in the crash.

A. Most of the people who recovered quickly were injured in the crash.

B. The people who were injured in the crash, most of them recovered quickly.

C. Most of the people recovered quickly after the crash.

D. Most of the people who were injured in the crash recovered quickly.

2. My sister didn’'t leave the car key, so I couldn’t pick her up at the airport.

A. If my sister had left the car key, | could pick her up at the airport.

B. If my sister had left the car key, | would have picked her up at the airport.

C. If my sister have left the car key, I could pick her up at the airport.



D. If my sister left the car key, |1 would pick her up at the airport.

3. The last time | went to the museum was a year ago.

A. My going to the museum lasted a year.

B. A year ago, | often went to the museum.

C. At last I went to the museum after a year.

D. I have not been to the museum for a year.

4. Most scientists know him well. However, very few ordinary people have heard of him.
A. Many ordinary people know him better than most scientists do.

B. He is the only scientist that is not known to the general public.

C. Not only scientist but also the general public know him as a big name.

D. Although he is well known to scientists, he is little known to the general public.
5. | expect you were fully satisfied with the results by the end of the school year.
A. At the end of the school year you must have been quite happy.

B. You were fully satisfied when the school year came to an end.

C. By the end of the school year you must have been fully satisfied.

D. You are completely satisfied with the results by the end of the school year.



